

**A NOTE ON THE MODIFIED TYPE 2 DEGENERATE
 POLY-CHANGHEE-GENOCCHI NUMBERS AND POLYNOMIALS**

LEE-CHAE JANG¹ AND HANYOUNG KIM²

ABSTRACT. In this paper, we introduce the modified type 2 degenerate poly-Changhee-Genocchi numbers and polynomials, and derive several explicit expressions and some identities for those numbers and polynomials. In particular, we provide interesting identities related to the Changhee-Genocchi polynomials and numbers of the second kind.

1. INTRODUCTION

As is well known, the Genocchi polynomials are defined by the generating function to be

$$(1) \quad \frac{2t}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!}, \quad (\text{see [21, 24]}).$$

When $x = 0$, $G_n = G_n(0)$ are called the Genocchi numbers. From (1), we note that

$$(2) \quad G_0(x) = 0, \quad E_n(x) = \frac{G_{n+1}(x)}{n+1}, \quad (n \geq 0), \quad (\text{see [21, 24]}),$$

where $E_n(x)$ are the ordinary Euler polynomials which are given by the generating function to be

$$(3) \quad \frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}, \quad (\text{see [2, 25]}).$$

The Changhee polynomials have been defined by the generating function to be

$$(4) \quad \frac{2}{t+2} (1+t)^x = \sum_{n=0}^{\infty} Ch_n(x) \frac{t^n}{n!}, \quad (\text{see [12, 18, 20, 22, 23, 26]}).$$

When $x = 0$ $Ch_n = Ch_n(0)$ are called the Changhee numbers. From (4), it is easy to see that

$$(5) \quad Ch_n(x) = \sum_{k=0}^n E_k(x) S_1(n, k), \quad (n \geq 0), \quad (\text{see [1, 12, 18, 27]}),$$

where $S_1(n, k)$ are called the Stirling numbers of the first kind as follows

$$(6) \quad (x)_n = \sum_{l=0}^n S_1(n, l) x^l, \quad (n \geq 0), \quad (\text{see [1, 2, 3, 9, 10, 11, 17]}).$$

The Bernoulli numbers of the second kind are defined by the generating function to be

$$(7) \quad \frac{t}{\log(1+t)} = \sum_{n=0}^{\infty} b_n \frac{t^n}{n!}, \quad (\text{see [5, 8, 15]}).$$

2010 Mathematics Subject Classification. 11B68; 11B83; 05A19; 05A40.

Key words and phrases. polyexponential functions; polylogarithm functions; degenerate type 2 poly-Changhee-Genocchi polynomials.

From (7), we note that

$$(8) \quad \left(\frac{t}{\log(1+t)}\right)^r (1+t)^{x-1} = \sum_{n=0}^{\infty} B_n^{(n-r+1)}(x) \frac{t^n}{n!}, \quad (\text{see [5, 8, 15]}).$$

where $B_n^{(r)}(x)$ are the higher-order Bernoulli polynomials defined by the generating function to be

$$(9) \quad \left(\frac{t}{e^t - 1}\right)^r e^{xt} = \sum_{n=0}^{\infty} B_n^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see [5, 8, 15]}).$$

When $x = 1$ and $r = 1$, we get

$$(10) \quad b_n = B_n^{(n)}(1), \quad (\text{see [5, 8, 15]}).$$

The Changhee-Genocchi polynomials are defined by the generating function to be

$$(11) \quad \frac{2 \log(1+t)}{2+t} (1+t)^x = \sum_{n=0}^{\infty} CG_n(x) \frac{t^n}{n!}, \quad (\text{see [16, 21]}).$$

The degenerate Changhee-Genocchi polynomials are defined by the generating function to be

$$(12) \quad \frac{2\lambda \log\left(1 + \frac{1}{\lambda} \log(1 + \lambda t)\right)}{2\lambda + \log(1 + \lambda t)} (1 + \lambda^{-1} \log(1 + \lambda t))^x = \sum_{n=0}^{\infty} CG_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [11, 21]}).$$

From (11) and (12), we note that

$$(13) \quad \lim_{\lambda \rightarrow 0} CG_{n,\lambda}(x) = CG_n(x), \quad (n \geq 0), \quad (\text{see [16, 21]}).$$

The modified degenerate Changhee-Genocchi polynomials are defined by the generating function to be

$$(14) \quad \frac{2\lambda t}{2\lambda + \log(1 + \lambda t)} (1 + \lambda^{-1} \log(1 + \lambda t))^x = \sum_{n=0}^{\infty} CG_{n,\lambda}^*(x) \frac{t^n}{n!}, \quad (\text{see [16, 21, 19]}).$$

Note that

$$(15) \quad \lim_{\lambda \rightarrow 0} CG_{n,\lambda}^*(x) = CG_n^*(x), \quad (n \geq 0), \quad (\text{see [16, 21]}).$$

Here, $CG_n^*(x)$ are called the modified Changhee-Genocchi polynomials which are given by the generating function to be

$$(16) \quad \frac{2t}{2+t} (1+t)^x = \sum_{n=0}^{\infty} CG_n^*(x) \frac{t^n}{n!}, \quad (\text{see [16, 21]}).$$

The degenerate Changhee polynomials are given by

$$(17) \quad \frac{2}{2 + \lambda^{-1} \log(1 + \lambda t)} (1 + \lambda^{-1} \log(1 + \lambda t))^x = \sum_{n=0}^{\infty} Ch_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [1, 13]}).$$

The degenerate exponential function is defined by

$$(18) \quad e_\lambda^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}}, \quad e_\lambda(t) = e_\lambda^1(t) = (1 + \lambda t)^{\frac{1}{\lambda}}, \quad (\text{see [6]}).$$

and the compositional inverse $\log_\lambda(t)$ of $e_\lambda(t)$ is given by $\log_\lambda(e_\lambda(t)) = e_\lambda(\log_\lambda(t)) = t$. Note that $\log_\lambda(t) = \frac{1}{\lambda}(t^\lambda - 1)$.

Recently, Kim-Kim-Kwon-Lee [5] introduced type 2 degenerate poly-Bernoulli numbers and polynomials. In this paper, we consider the modified type 2 degenerate poly-Changhee-Genocchi numbers and polynomials, and derive several explicit expressions and

some identities for those umbers and polynomials. In particular, we provide interesting identities related to the Chnaghee-Genocchi polynomials and numbers of the second kind.

2. THE MODIFIED TYPE 2 DEGENERATE POLY-CHANGHEE-GENOCCHI NUMBERS AND POLYNOMIALS

For $k \in \mathbb{Z}$, the polyexponential function is defined by

$$(19) \quad Ei_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{(n-1)!n^k}, \quad (|x| < 1) \quad (\text{see [4, 6, 7, 28]}).$$

By (19), we see that $Ei_1(x) = e^x - 1$. For $k \in \mathbb{Z}$, the degenerate modified polyexponential function is given by

$$(20) \quad Ei_{k,\lambda}(x) = \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda} x^n}{(n-1)!n^k}, \quad (|x| < 1) \quad (\text{see [4, 6, 28]}).$$

Note that $Ei_{1,\lambda}(x) = e_\lambda(x) - 1$. From (20), we note that

$$(21) \quad \frac{d}{dx} Ei_{k,\lambda}(x) = \frac{1}{x} \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda} x^n}{(n-1)!n^{k-1}} = \frac{1}{x} Ei_{k-1,\lambda}(x).$$

For $k \geq 2$, by (21), we have

$$(22) \quad \begin{aligned} Ei_{k,\lambda}(x) &= \int_0^x \underbrace{\frac{1}{t} \int_0^t \frac{1}{t} \int_0^t \cdots \frac{1}{t} \int_0^t}_{(k-2)\text{times}} \frac{1}{t} Ei_{1,\lambda}(t) dt \cdots dt dt \\ &= \int_0^x \underbrace{\frac{1}{t} \int_0^t \frac{1}{t} \int_0^t \cdots \frac{1}{t} \int_0^t}_{(k-2)\text{times}} (e_\lambda(t) - 1) dt \cdots dt dt \end{aligned}$$

Recently, Kim–Kim–Kwon–Lee[5] introduced the type 2 degenerate poly–Bernoulli polynomials which are given by the generating function to be

$$(23) \quad \frac{Ei_{k,\lambda}(\log_\lambda(1+t))}{e_\lambda(t) - 1} e_\lambda^x(t) = \sum_{n=0}^{\infty} B_{n,\lambda}^{(k)}(x) \frac{t^n}{n!}.$$

When $x = 0$, $B_{n,\lambda}^{(k)} = B_{n,\lambda}^{(k)}(0)$ are called type 2 degenerate poly–Bernoulli numbers. In view of (14) and (23), using the degenerate modified polyexponential function, we define the modified type 2 degenerate poly–Changhee–Genocchi polynomials which are given by the generate function to be

$$(24) \quad \frac{Ei_{k,\lambda}(\log_\lambda(1+2t))}{2 + \lambda^{-1} \log(1 + \lambda t)} (1 + \lambda^{-1} \log(1 + \lambda t))^x = \sum_{n=0}^{\infty} CG_{n,\lambda}^{(k,*)}(x) \frac{t^n}{n!}.$$

When $x = 0$, $CG_{n,\lambda}^{(k,*)} = CG_{n,\lambda}^{(k,*)}(0)$ are called the modified type 2 degenerate poly–Changhee–Genocchi numbers. From (24), we note that

$$(25) \quad \begin{aligned} & \frac{Ei_{1,\lambda}(\log_{\lambda}(1+2t))}{2 + \lambda^{-1} \log(1 + \lambda t)} (1 + \lambda^{-1} \log(1 + \lambda t))^x \\ &= \frac{2t}{2 + \lambda^{-1} \log(1 + \lambda t)} (1 + \lambda^{-1} \log(1 + \lambda t))^x. \end{aligned}$$

From (25), for $k = 1$, we have that $CG_{n,\lambda}^{(1,*)}(x) = CG_{n,\lambda}^*(x)$. By (24), for $x = 0$, we note that

$$(26) \quad \begin{aligned} Ei_{k,\lambda}(\log_{\lambda}(1+2t)) &= (2 + \lambda^{-1} \log(1 + \lambda t)) \left(\sum_{l=0}^{\infty} CG_{l,\lambda}^{(k,*)} \frac{t^l}{l!} \right) \\ &= \left(2 + \sum_{s=1}^{\infty} \frac{(-1)^{s-1} \lambda^{s-1}}{s} t^s \right) \left(\sum_{l=0}^{\infty} CG_{l,\lambda}^{(k,*)} \frac{t^l}{l!} \right) \\ &= \sum_{n=1}^{\infty} 2CG_{n,\lambda}^{(k,*)} \frac{t^n}{n!} + \left(\sum_{s=1}^{\infty} (-1)^{s-1} \lambda^{s-1} (s-1)! \frac{t^s}{s!} \right) \left(\sum_{l=0}^{\infty} CG_{n-s,\lambda}^{(k,*)} \frac{t^l}{l!} \right) \\ &= \sum_{n=1}^{\infty} \left(2CG_{l,\lambda}^{(k,*)} + \sum_{s=1}^n \binom{n}{s} (s-1)! (-1)^{s-1} \lambda^{s-1} CG_{n-s,\lambda}^{(k,*)} \right) \frac{t^n}{n!} \end{aligned}$$

and

$$(27) \quad \begin{aligned} Ei_{k,\lambda}(\log_{\lambda}(1+2t)) &= \sum_{m=1}^{\infty} \frac{(1)_{m,\lambda} (\log_{\lambda}(1+2t))^m}{(m-1)! m^k} \\ &= \sum_{m=1}^{\infty} \frac{(1)_{m,\lambda}}{m^{k-1}} \frac{1}{m!} (\log_{\lambda}(1+2t))^m \\ &= \sum_{m=1}^{\infty} \frac{(1)_{m,\lambda}}{m^{k-1}} \sum_{n=m}^{\infty} S_{1,\lambda}(n,m) \frac{(2t)^n}{n!} \\ &= \sum_{n=1}^{\infty} \left(\sum_{m=1}^n \frac{(1)_{m,\lambda} S_{1,\lambda}(n,m) 2^n}{m^{k-1}} \right) \frac{t^n}{n!}. \end{aligned}$$

Therefore, by (26) and (27), we obtain the following theorem.

Theorem 2.1. For $n \in \mathbb{N}$ and $k \in \mathbb{Z}$, we have

$$(28) \quad \begin{aligned} & 2CG_{n,\lambda}^{(k,*)} + \sum_{s=1}^n \binom{n}{s} (s-1)! (-1)^{s-1} \lambda^{s-1} CG_{n-s,\lambda}^{(k,*)} \\ &= \sum_{m=1}^n \frac{(1)_{m,\lambda} S_{1,\lambda}(n,m) 2^n}{m^{k-1}}. \end{aligned}$$

From Theorem 2.1 with $k = 1$, we get

$$(29) \quad \begin{aligned} & 2CG_{n,\lambda}^{(1,*)} + \sum_{s=1}^n \binom{n}{s} (s-1)! (-1)^{s-1} \lambda^{s-1} CG_{n-s,\lambda}^{(1,*)} \\ &= 2CG_{l,\lambda}^{(*)} + \sum_{s=1}^n \binom{n}{s} (s-1)! (-1)^{s-1} \lambda^{s-1} CG_{n-s,\lambda}^{(*)}, \end{aligned}$$

and

$$(30) \quad \sum_{m=1}^n (1)_{m,\lambda} S_{1,\lambda}(n,m) 2^n = 2^n \left(\sum_{m=0}^{\infty} (1)_{m,\lambda} S_{1,\lambda}(n,n) 2^n - S_{1,\lambda}(n,0) \right) = 2^n ((1)_n - \delta_{n,0}),$$

where the degenerate Stirling numbers of the first kind are defined by

$$(x)_n = \sum_{l=0}^n S_{1,\lambda}(n,l) (x)_{l,\lambda}.$$

From (29) and (30), we have the following corollary.

Corollary 2.2. *For $n \in \mathbb{N}$, we have*

$$(31) \quad 2CG_{l,\lambda}^* + \sum_{l=1}^n \binom{n}{l} (l-1)! (-1)^{l-1} \lambda^{l-1} CG_{n-l,\lambda}^* = 2^n ((1)_n - \delta_{n,0}).$$

From (22), we note that

$$(32) \quad \begin{aligned} Ei_{k,\lambda}(\log_{\lambda}(1+2t)) &= (e_{\lambda}(2t) - 1) \sum_{l=0}^{\infty} B_{l,\lambda}^{(k)} \frac{(2t)^l}{l!} \\ &= \left(\sum_{m=0}^{\infty} \frac{(1)_{m,\lambda}}{m!} (2t)^m - 1 \right) \left(\sum_{l=0}^{\infty} B_{l,\lambda}^{(k)} 2^l \frac{t^l}{l!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} (1)_{n-m,\lambda} 2^m B_{m,\lambda}^{(k)} - 2^n B_{n,\lambda}^{(k)} \right) \frac{t^n}{n!} \\ &= \sum_{n=1}^{\infty} 2^n \left(B_{n,\lambda}^{(k)} (1) - B_{n,\lambda}^{(k)} \right) \frac{t^n}{n}. \end{aligned}$$

By (32), (24) and (17), we observe that

$$(33) \quad \begin{aligned} &\sum_{n=0}^{\infty} CG_{n,\lambda}^{(k,*)}(x) \frac{t^n}{n!} \\ &= \frac{Ei_{k,\lambda}(\log_{\lambda}(1+2t))}{2 + \lambda^{-1} \log(1 + \lambda t)} (1 + \lambda^{-1} \log(1 + \lambda t))^x \\ &= \frac{1}{2} Ei_{k,\lambda}(\log_{\lambda}(1+2t)) \frac{2}{2 + \lambda^{-1} \log(1 + \lambda t)} (1 + \lambda^{-1} \log(1 + \lambda t))^x \\ &= \left(\sum_{m=1}^{\infty} 2^{m-1} \left(B_{m,\lambda}^{(k)} (1) - B_{m,\lambda}^{(k)} \right) \frac{t^m}{m!} \right) \left(\sum_{l=0}^{\infty} Ch_{l,\lambda}(x) \frac{t^l}{l!} \right) \\ &= \sum_{n=1}^{\infty} \left(\sum_{l=0}^{n-1} \binom{n}{l} 2^{n-l-1} \left(B_{n-l,\lambda}^{(k)} (1) - B_{n-l,\lambda}^{(k)} \right) Ch_{l,\lambda}(x) \right) \frac{t^n}{n!}. \end{aligned}$$

From (33), we obtain the following theorem.

Theorem 2.3. *For $n \geq 1$, we have*

$$(34) \quad CG_{n,\lambda}^{(k,*)}(x) = \sum_{l=0}^{n-1} \binom{n}{l} 2^{n-l-1} \left(B_{n-l,\lambda}^{(k)} (1) - B_{n-l,\lambda}^{(k)} \right) Ch_{l,\lambda}(x).$$

From (21) and (22), we note that

$$\begin{aligned}
 & \frac{d}{dx} Ei_{k,\lambda}(\log_\lambda(1+2x)) \\
 &= \frac{d}{dx} \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda} (\log_\lambda(1+2x))^n}{(n-1)! n^k} \\
 (35) \quad &= \frac{2(1+2x)^{\lambda-1}}{\log_\lambda(1+2x)} \cdot \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda} (\log_\lambda(1+2x))^n}{(n-1)! n^{k-1}} \\
 &= \frac{2(1+2x)^{\lambda-1}}{\log_\lambda(1+2x)} Ei_{k-1,\lambda}(\log_\lambda(1+2x)).
 \end{aligned}$$

By (35), for $k \geq 2$, we have

$$(36) \quad Ei_{k,\lambda}(\log_\lambda(1+2x)) = \int_0^x \underbrace{\frac{2(1+2t)^{\lambda-1}}{\log_\lambda(1+2t)} \int_0^t \cdots \frac{2(1+2t)^{\lambda-1}}{\log_\lambda(1+2t)} \int_0^t \frac{2(1+2t)^{\lambda-1}}{\log_\lambda(1+2t)} 2t dt \cdots dt}_{(k-2)\text{times}} dt.$$

It is well known that the degenerate Bernoulli polynomials of the second kind are defined by

$$(37) \quad \frac{t}{\log_\lambda(1+t)} (1+t)^x = \sum_{n=0}^{\infty} b_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [8]}).$$

When $x=0$, $b_{n,\lambda} = b_{n,\lambda}(0)$ are called the degenerate Bernoulli numbers of the second kind. From (24) and (36), we have

$$\begin{aligned}
 (38) \quad & \sum_{n=0}^{\infty} CG_{n,\lambda}^{(k,*)} \frac{x^n}{n!} = \frac{1}{2 + \lambda^{-1} \log(1 + \lambda x)} Ei_{k,\lambda}(\log_\lambda(1+2x)) \\
 &= \frac{1}{2 + \lambda^{-1} \log(1 + \lambda x)} \int_0^x \underbrace{\frac{2(1+2t)^{\lambda-1}}{\log_\lambda(1+2t)} \int_0^t \cdots \frac{2(1+2t)^{\lambda-1}}{\log_\lambda(1+2t)} \int_0^t \frac{2(1+2t)^{\lambda-1}}{\log_\lambda(1+2t)} 2t dt \cdots dt}_{(k-2)\text{times}} dt \\
 &= \frac{2x}{2 + \lambda^{-1} \log(1 + \lambda x)} \sum_{m=0}^{\infty} \sum_{m_1 + \cdots + m_{k-1} = m} 2^m \binom{m}{m_1 \cdots m_{k-1}} \\
 & \quad \times \frac{b_{m_1,\lambda}(\lambda-1)}{m_1+1} \cdot \frac{b_{m_2,\lambda}(\lambda-1)}{m_1+m_2+1} \cdots \frac{b_{m_{k-1},\lambda}(\lambda-1)}{m_1+\cdots+m_{k-1}+1} \cdot \frac{x^m}{m!} \\
 &= \left(\sum_{l=0}^{\infty} CG_{l,\lambda}^* \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} \sum_{m_1 + \cdots + m_{k-1} = m} 2^m \binom{m}{m_1 \cdots m_{k-1}} \right) \\
 & \quad \times \frac{b_{m_1,\lambda}(\lambda-1)}{m_1+1} \cdot \frac{b_{m_2,\lambda}(\lambda-1)}{m_1+m_2+1} \cdots \frac{b_{m_{k-1},\lambda}(\lambda-1)}{m_1+\cdots+m_{k-1}+1} \frac{x^m}{m!} \\
 &= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} \sum_{m_1 + \cdots + m_{k-1} = m} 2^m \binom{m}{m_1 \cdots m_{k-1}} \\
 & \quad \times \frac{b_{m_1,\lambda}(\lambda-1)}{m_1+1} \cdot \frac{b_{m_2,\lambda}(\lambda-1)}{m_1+m_2+1} \cdots \frac{b_{m_{k-1},\lambda}(\lambda-1)}{m_1+\cdots+m_{k-1}+1} CG_{n-m,\lambda}^* \frac{x^n}{n!}.
 \end{aligned}$$

Therefore, by (38), we obtain the following theorem.

Theorem 2.4. For $n \geq 0$, we have

$$(39) \quad CG_{n,\lambda}^{(k,*)} = \sum_{m=0}^n \binom{n}{m} 2^m \sum_{m_1+\dots+m_{k-1}=m} \binom{m}{m_1 \cdots m_{k-1}} \times \frac{b_{m_1,\lambda}(\lambda-1)}{m_1+1} \cdot \frac{b_{m_2,\lambda}(\lambda-1)}{m_1+m_2+1} \cdots \frac{b_{m_{k-1},\lambda}(\lambda-1)}{m_1+\dots+m_{k-1}+1} CG_{n-m}^*.$$

By replacing t by $\frac{1}{2}(e_\lambda(t) - 1)$ in (24), we get

$$(40) \quad \begin{aligned} & \sum_{m=0}^\infty CG_{m,\lambda}^{(k,*)}(x) \frac{(\frac{1}{2}(e_\lambda(t) - 1))^m}{m!} \\ &= \sum_{m=0}^\infty CG_{m,\lambda}^{(k,*)}(x) \left(\frac{1}{2^m} \sum_{n=m}^\infty S_{2,\lambda}(n, m) \frac{t^n}{n!} \right) \\ &= \sum_{n=0}^\infty \left(\sum_{m=0}^n 2^{-m} CG_{m,\lambda}^{(k,*)}(x) S_{2,\lambda}(n, m) \right) \frac{t^n}{n!}, \end{aligned}$$

where the degenerate Stirling numbers of the second kind are given by

$$(41) \quad \frac{1}{m!} (e_\lambda(t) - 1)^m = \sum_{l=m}^\infty S_{2,\lambda}(m, l) \frac{t^l}{l!}.$$

On the other hand,

$$(42) \quad \begin{aligned} & \sum_{m=0}^\infty CG_{n,\lambda}^{(k,*)}(x) \frac{(\frac{1}{2}(e_\lambda(t) - 1))^m}{m!} \\ &= \frac{Ei_{k,\lambda}(t)}{2 + \lambda^{-1} \log(1 + \frac{\lambda}{2}(e_\lambda(t) - 1))} \left(1 + \lambda^{-1} \log \left(1 + \frac{\lambda}{2}(e_\lambda(t) - 1) \right) \right)^x \\ &= \frac{1}{2} \cdot \frac{2 \left(1 + \lambda^{-1} \log \left(1 + \frac{\lambda}{2}(e_\lambda(t) - 1) \right) \right)^x Ei_{k,\lambda}(t)}{2 + \lambda^{-1} \log(1 + \frac{\lambda}{2}(e_\lambda(t) - 1))} \\ &= \frac{1}{2} \sum_{m=0}^\infty Ch_{m,\lambda}(x) \frac{(\frac{1}{2}(e_\lambda(t) - 1))^m}{m!} \sum_{l=1}^\infty \frac{(1)_{l,\lambda}}{l^{k-1}} \cdot \frac{t^l}{l!} \\ &= \left(\frac{1}{2} \sum_{m=0}^\infty Ch_{m,\lambda}(x) 2^{-m} \sum_{i=m}^\infty S_{2,\lambda}(i, m) \frac{t^i}{i!} \right) \left(\sum_{l=0}^\infty \frac{(1)_{l+1,\lambda}}{(l+1)^{k-1}} \frac{t^{l+1}}{(l+1)!} \right) \\ &= \left(\sum_{i=0}^\infty \left(\sum_{m=0}^i Ch_{m,\lambda}(x) 2^{-m-1} S_{2,\lambda}(i, m) \right) \frac{t^i}{i!} \right) \left(\sum_{l=0}^\infty \frac{(1)_{l+1,\lambda}}{(l+1)^{k-1}} \frac{t^{l+1}}{(l+1)!} \right) \\ &= \sum_{n=1}^\infty \left(\sum_{l=0}^{n-1} \sum_{m=0}^{n-l-1} \binom{n}{l+1} Ch_{m,\lambda}(x) 2^{-m-1} S_{2,\lambda}(n-l-1, m) \frac{(1)_{l+1,\lambda}}{(l+1)^{k-1}} \right) \frac{t^n}{n!}. \end{aligned}$$

Therefore by (40) and (42), we obtain the following theorem.

Theorem 2.5. For $n \geq 1$, we have

$$(43) \quad \begin{aligned} & \sum_{m=0}^n 2^{-m} CG_{m,\lambda}^{(k,*)}(x) S_{2,\lambda}(n, m) \\ &= \sum_{l=0}^{n-1} \sum_{m=0}^{n-l-1} \binom{n}{l+1} Ch_{m,\lambda}(x) 2^{-m-1} S_{2,\lambda}(n-l-1, m) \frac{(1)_{l+1,\lambda}}{(l+1)^{k-1}}. \end{aligned}$$

Finally, we observe that

$$\begin{aligned}
 & \frac{Ei_{k,\lambda}(\log_{\lambda}(1+2t))}{2+\lambda^{-1}\log(1+\lambda t)}(1+\lambda^{-1}\log(1+\lambda t))^x \\
 &= \left(\sum_{i=0}^{\infty} CG_{i,\lambda}^{(k,*)} \frac{t^i}{i!}\right) \left(\sum_{m=0}^{\infty} \frac{(x)_m}{m!} (\lambda^{-1}\log(1+\lambda t))^m\right) \\
 &= \left(\sum_{i=0}^{\infty} CG_{i,\lambda}^{(k,*)} \frac{t^i}{i!}\right) \left(\sum_{m=0}^{\infty} (x)_m \frac{\lambda^{-m}}{m!} (\log(1+\lambda t))^m\right) \\
 (44) \quad &= \left(\sum_{i=0}^{\infty} CG_{i,\lambda}^{(k,*)} \frac{t^i}{i!}\right) \left(\sum_{m=0}^{\infty} (x)_m \lambda^{-m} \sum_{j=m}^{\infty} S_1(j,m) \frac{\lambda^j t^j}{j!}\right) \\
 &= \left(\sum_{i=0}^{\infty} CG_{i,\lambda}^{(k,*)} \frac{t^i}{i!}\right) \left(\sum_{j=0}^{\infty} \sum_{m=0}^j (x)_m \lambda^{j-m} S_1(j,m) \frac{t^j}{j!}\right) \\
 &= \sum_{n=0}^{\infty} \left(\sum_{j=0}^n \sum_{m=0}^j \binom{n}{j} (x)_m CG_{n-j,\lambda}^{(k,*)} \lambda^{j-m} S_1(j,m)\right) \frac{t^n}{n!}
 \end{aligned}$$

From (24) and (44), we obtain the following theorem.

Theorem 2.6. For $n \geq 0$, we have

$$(45) \quad CG_{n,\lambda}^{(k,*)}(x) = \sum_{j=0}^n \sum_{m=0}^j \binom{n}{j} (x)_m CG_{n-j,\lambda}^{(k,*)} \lambda^{j-m} S_1(j,m).$$

3. CONCLUSION

Lee-Kim-Jang(2020) considered the type 2 degenerate poly-Euler polynomials by using the degenerate multiple polyexponential functions. Based on these ideas and similar views, we considered the modified type 2 degenerate poly-Changhee-Genocchi polynomials in Eq. (24) by using the degenerate modified polyexponential functions. Furthermore, we obtained some explicit expressions for the degenerate type 2 multi-poly-Genocchi polynomials in Theorem 2.1, Corollary 2.2, Theorem 2.3, Theorem 2.4 and Theorem 2.5.

REFERENCES

- [1] Chung, S.K.; Jang, G.-W.; Kwon, J. Lee, J. *Some identities of the degenerate Changhee numbers of second kind arising from differential equations*, Adv. Stud. Contemp. Math., Kyungshang **28(4)** (2018), 577-587.
- [2] Kilar, N.; Simsek, Y. *Relations on Bernoulli and Euler polynomials related to trigonometric functions*, Adv. Stud. Contemp. Math., Kyungshang **29(2)** (2019), 191-198. 227-235.
- [3] Kim, D. S.; Kim, T.; Kim, H.; Lee, H. *Two variable degenerate Bell polynomials associated with Poisson degenerate central moments*, Proc. Jangjeon Math. Soc. **23(4)** (2020) , 587-596.
- [4] Kim, D. S.; Kim, T. *A note on polyexponential and unipoly functions*, Russ. J. Math. Phys. **23(4)** (2020), 587-596.
- [5] Kim, T.; Kim, D. S.; Kwon, J.; Lee, H. *Degenerate polyexponential functions and type 2 degenerate poly-Bernoulli numbers and polynomials*, Adv. Difference Equ. **23(4)** (2020), Paper No. 168, 12 pp.
- [6] Kim, T.; Kim, D. S. *Degenerate polyexponential functions and degenerate Bell polynomials*, J. Math. Anal. Appl. **487(2)** (2020), 124017, 15 pp.
- [7] Kim, T.; Kim, D. S. *Note on the Degenerate Gamma Function*, Russ. J. Math. Phys. **27(3)** (2020), 352-358.
- [8] Kim, D. S.; Kim, T. *A Note on a New Type of degenerate Bernoulli Numbers*, Russ. J. Math. Phys. **27(2)** (2020), 227-235.

- [9] Kim, T.; Kim, D. S. *A Note on Central Bell Numbers and Polynomials*, Russ. J. Math. Phys. **27**(1) (2020), 76-81.
- [10] Kim, T.; Yao, Y.; Kim, D. S.; Jang, G.-W. *Degenerate r -Stirling numbers and r -Bell polynomials*, Russ. J. Math. Phys. **25**(1) (2018), 4458.
- [11] Kim, T.; Kim, D. S.; Kim, H.-Y.; Lee, H.; Jang, L.-C. *A family of associated sequences and their representations by Appell polynomials*, Proc. Jangjeon Math. Soc. **23**(4) (2020), 445-458.
- [12] Kim, T.; Kim, D. S. *A note on type 2 Changhee and Daehee polynomials*, Rev. R. Acad. Cienc. Exactas Fs. Nat. Ser. A Mat. RACSAM **113**(3) (2019), no. 3, 27832791.
- [13] Kim, Y.; Park, J.-W. *On the degenerate (h, q) -Changhee numbers and polynomials*, J. Inequal. Appl. (2019), Paper No. 5, 15 pp.
- [14] Kwon, J.; Jang, L.C. *A note on the type 2 poly-Apostol-Bernoulli polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **30**(2) (2020), 253-262.
- [15] Kim, H.K.; Jang, L.C. *the Degenerate Poly-Cauchy Polynomials and Numbers of the Second Kind*, Symmetry **12**(7) (2020), 1066.
- [16] Kim, Y.; Kwon, J.; Sohn, G. Y.; Lee, J. G. *Some identities of the partially degenerate Changhee-Genocchi polynomials and numbers*, Adv. Stud. Contemp. Math. (Kyungshang) **29**(4) (2020), 537-550.
- [17] Kucukoglu, I.; Simsek, Y. *Observations on identities and relations for interpolation functions and special numbers*, Adv. Stud. Contemp. Math., Kyungshang **15**(1) (2018), 41-56.
- [18] Kwon, J.; Kim, W. J.; Rim, S.-H. *On the some identities of the type 2 Daehee and Changhee polynomials arising from p -adic integrals on Z_p* , Proc. Jangjeon Math. Soc. **22**(3) (2019), 487497.
- [19] Kwon, J.; Park, J.-W. *On modified degenerate Changhee polynomials and numbers*, J. Nonlinear Sci. Appl. **9**(12) (2016), 62946301.
- [20] Lim, D. *Fourier series of higher-order Daehee and Changhee functions and their applications*, J. Inequal. Appl. (2017), Paper No. 150, 13.
- [21] Pak, H.-K.; Jeong, J.; Kang, D.-J.; Rim, S.-H. *Changhee-Genocchi numbers and their applications*, Ars Combin. **136** (2018), 153159.
- [22] So, J. S.; Simsek, Y. *Derivation of computational formulas for Changhee polynomials and their functional and differential equations*, J. Inequal. Appl. (2020), Paper No. 149, 22 pp.
- [23] Qi, F.; Jang, L.-C.; Kwon, H.-I. *Some new and explicit identities related with the Appell-type degenerate q -Changhee polynomials*, Adv. Difference Equ. (2020), Paper No. 180, 8 pp.
- [24] Ryoo, C. S. *Calculating zeros of the twisted Genocchi polynomials*, Adv. Stud. Contemp. Math., Kyungshang **17**(2) (2008), 147-159.
- [25] Sen, E. *Theorems on Apostol-Euler polynomials of higher order arising from Euler basis*, Adv. Stud. Contemp. Math. (Kyungshang) **23**(2) (2013), 337-345.
- [26] Simsek, Y. *Identities on the Changhee numbers and Apostol-type Daehee polynomials*, Adv. Stud. Contemp. Math., Kyungshang **27**(2) (2017), 199-212.
- [27] Yun, S. J.; Park, J.-W.; Kwon, J. *Symmetric identities of higher-order Carlitz type q -Changhee polynomials under S_3* , Adv. Stud. Contemp. Math., Kyungshang **29**(4) (2019), 551-563.
- [28] Lee, D.S.; Kim, H.K.; Jang, L.C. *Type 2 Degenerate Poly-Euler Polynomials*, Symmetry **12**(6) (2020), 1011.

¹GRADUATE SCHOOL OF EDUCATION, KONKUK UNIVERSITY, SEOUL 05029, KOREA
E-mail address: lcjang@konkuk.ac.kr

²(CORRESPONDING)DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, KOREA
E-mail address: gksdud213@kw.ac.kr